

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 17, 2022

Progress Estimate Number 6	Contract ID 210917-D07 Pay Period Start June 2, 2022 Original Contract Amoun Prime Contractor Capital Paving & Construction, LLC Pay Period End June 15, 2022 Net Change Order Amount Current Contract Amount	nt (\$0.01)
Approval Date		By User

By User		Approval Date
oeschd1	Generated and Approved (and should be considered Draft) at the Project Office Level by	June 21, 2022
oeschd1	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	June 21, 2022
ramses1	Reviewed and Approved at the Central Office Controllers Office Level by	June 22, 2022

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
October 31, 2022	October 31, 2022		8.07%
Contract Informatio	nal Dates		Milostonos

Со	ntract Informational	Dates
Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	October 6, 2021	October 6, 2021
Letting Date	September 17, 2021	September 17, 2021
Notice to Proceed Date	December 6, 2021	December 6, 2021
Open to Traffic Date		
Work Began Date	March 29, 2022	March 29, 2022

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Completion Date	October 31, 2022	October 31, 2022	131	

Milestones

Contract Total P	ay For Estimate No. 6			
		This Estimate	Previous	To Date
210917-D07				
	Total Posted Items Pay	\$622,970.53	\$615,199.57	\$1,238,170.10
	Gross Item Adjustments	\$34,237.78	\$423,448.14	\$457,685.92
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	·		\$1,038,647.71	\$1,695,856.02
Contract Total D	avable This Estimate:	\$657 208 31		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3409	0100	2153000	SHAPING SLOPES, CLASS III	100F	\$900.000	24.875	\$22,387.50
	0200	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	TONS	\$62.730	5,525.87	\$346,637.83
	0250	4071007	TACK COAT - LOW OR NON-TRACKING	GAL	\$3.250	5,688	\$18,486.00
	0310	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$213.000	405	\$86,265.00
	0330	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$6.000	1,553	\$9,318.00
	0340	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$5.000	759	\$3,795.00
	0390	6161005	CONSTRUCTION SIGNS	SQFT	\$4.500	101.86	\$458.37
	0410	6161025	CHANNELIZER (TRIM LINE)	EA	\$15.000	65	\$975.00
	0600	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.900	56,185.09	\$50,566.58
	0730	6061060	MGS GUARDRAIL	LF	\$27.500	2,137.5	\$58,781.25
	0740	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,200.000	2	\$6,400.00
	0770	6061079	MGS EMBEDDED ANCHOR SECTION (WITHOUT RUBRAIL)	LF	\$36.000	125	\$4,500.00
	0780	6061080	MGS END ANCHOR	EA	\$1,300.000	2	\$2,600.00

Revision 4/1/2020 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 17, 2022

Progress Estimate Number	Contract ID 210917-D07	Pay Period Start June 2, 2022 Original Contract Amount \$15,350,303.10
6	Prime Contractor Capital Paving & Constructio	n, LLC Pay Period End June 15, 2022 Net Change Order Amount (\$0.01)
0		Current Contract Amount \$15,350,303.09

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3409	0790	6063014	YPE A CRASHWORTHY END TERMINAL (MASH) EA \$2,950.000 4				\$11,800.00
Project J5	23409 - To	tal					\$622,970.53
Overall - T	otal						\$622,970.53

Contract Adjustments This Estimate

roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
P3409	0200	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	704.14	\$8.80	\$6,195.02
	0200	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,499.27	\$8.80	\$21,988.58
	0200	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,322.46	\$8.80	\$20,433.00
	0200	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Adjustment - Asphalt			\$42,521.57
	0250	TACK COAT - LOW OR NON-TRACKING	Material			-5,688	\$3.25	(\$18,486.00
	0250	TACK COAT - LOW OR NON-TRACKING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user hakej1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	5,688	\$3.25	\$18,486.00
	0310	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-506.7	\$213.00	(\$107,927.10
	0310	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user hakej1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	506.7	\$213.00	\$107,927.10
	0340	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material			-959	\$5.00	(\$4,795.00
	0340	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user hakej1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	959	\$5.00	\$4,795.00
	0730	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$43,200.39
	0740	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$4,200.00
	0780	MGS END ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$1,700.00
	0790	TYPE A CRASHWORTHY	Construction		Payment Estimate Item Adjustment generated			(\$7,800.00

Revision 4/1/2020 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J5P3409	FAF 63-3(112)	COLDMILL, RESURFACE, INTERSECTION, PAVEMENT REPAIRS, BRIDGE OVERLAYS, AND GUARDRAIL IMPOVEMENTS	63	BOONE	from Rte. B in Boone Co. to Rte. 54 in Callaway Co.

Totals by Job	Numbers			
J5P3409		This Estimate	Previous	To Date
	Posted Item Pay	\$622,970.53	\$615,199.57	\$1,238,170.10
	Gross Item Adjustments	\$34,237.78	\$423,448.14	\$457,685.92
	Gross Item Pay	\$657,208.31	\$1,038,647.71	\$1,695,856.02
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00

Revision 4/1/2020 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5P3409, Item 4071007, Project Item Line Number 0250, Material Set 407100796, Material 1015EASS1VH - Emulsified Asphalt - Trackless Tack, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	hakej1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3409, Item 6131010, Project Item Line Number 0310, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	hakej1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3409, Item 6131010, Project Item Line Number 0310, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	hakej1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3409, Item 6131010, Project Item Line Number 0310, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	hakej1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3409, Item 6131015, Project Item Line Number 0340, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	hakej1	Overridden

Revision 4/1/2020 Page 4 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D07	J5P3409	0001	0010	1041000	TEMPORARY SURFACING	350.00	0.00	350.00	CUYD	0.00	\$36.13	\$0.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$73,785.47	\$0.00
		0001	0030	2031000	CLASS A EXCAVATION	1,782.00	0.00	1,782.00	CUYD	0.00	\$19.50	\$0.00
		0001	0040	2036000	COMPACTING EMBANKMENT	1,577.00	0.00	1,577.00	CUYD	0.00	\$3.87	\$0.00
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	5.00	0.00	5.00	100F	0.00	\$539.10	\$0.00
		0001	0060	2121000A	SUBGRADING AND SHOULDERING CLASS 1	5.00	0.00	5.00	100F	0.00	\$870.36	\$0.00
		0001	0070	2142000	FURNISHING ROCK FILL	1,577.00	0.00	1,577.00	CUYD	0.00	\$43.54	\$0.00
		0001	0800	2143000	PLACING ROCK FILL	1,577.00	0.00	1,577.00	CUYD	0.00	\$15.80	\$0.00
		0001	0090	2152000A	SHAPING SLOPES, CLASS II	1,056.00	0.00	1,056.00	100F	0.00	\$136.05	\$0.00
		0001	0100	2153000	SHAPING SLOPES, CLASS III	179.00	0.00	179.00	100F	126.25	\$900.00	\$113,625.00
		0001	0110	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	4,802.00	0.00	4,802.00	SQYD	0.00	\$11.54	\$0.00
		0001	0120	3049905	MISC.6" AGGREGATE FOR DRAINAGE	1,234.60	0.00	1,234.60	SQYD	0.00	\$11.24	\$0.00
		0001	0130	3105002	GRAVEL (A) OR CRUSHED STONE (B)	409.00	0.00	409.00	TONS	0.00	\$35.00	\$0.00
		0001	0140	4010150	TYPE A2 SHOULDER	474.40	0.00	474.40	SQYD	0.00	\$35.00	\$0.00
		0001	0150	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	8,413.10	0.00	8,413.10	TONS	0.00	\$65.00	\$0.00
		0001	0160	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	2,454.80	0.00	2,454.80	TONS	0.00	\$75.00	\$0.00
		0001	0170	4019905	MISC.9.5 IN PCCP OR 12.5 IN HMA	1,743.30	0.00	1,743.30	SQYD	0.00	\$55.00	\$0.00
		0001	0180	4019905	MISC.OPTIONAL PAVEMENT - 8 IN PCCP OR 9 IN HMA	2,585.00	0.00	2,585.00	SQYD	0.00	\$35.00	\$0.00
		0001	0190	4019905	MISC.VEG BARRIER 3 IN.	1,255.40	0.00	1,255.40	SQYD	0.00	\$18.00	\$0.00
			0200	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	106,293.50	0.00	106,293.50	TONS	7,996.62	\$62.73	\$501,627.97
		0001	0210	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX)	6,606.20	0.00	6,606.20	TONS	0.00	\$64.25	\$0.00
		0001	0220	4030200	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001										
		0001	0230	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$65,000.00	\$0.00
		0001	0240	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.00
		0001	0250	4071007	TACK COAT - LOW OR NON-TRACKING	119,269.00	0.00	119,269.00	GAL	8,312.00	\$3.25	\$27,014.00
		0001	0260	4099905	MISC.SURFACE SEALING TREATMENT	372,913.30	0.00	372,913.30	SQYD	0.00	\$1.53	\$0.00
		0001	0270	4139905	MISC.High Friction Surface Treatment	32,947.20	0.00	32,947.20	SQYD	0.00	\$18.33	\$0.00
		0001	0280	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	164.00	0.00	164.00	CUYD	0.00	\$47.49	\$0.00
		0001	0290	6096042	PLACING TYPE 2 ROCK DITCH LINER	164.00	0.00	164.00	CUYD	0.00	\$18.95	\$0.00
		0001	0300	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.00
		0001	0310	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,868.60	0.00	1,868.60	SQYD	506.70	\$213.00	\$107,927.10
		0001	0320	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	1,661.00	0.00	1,661.00	SQYD	0.00	\$1.00	\$0.00
		0001	0330	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	9,416.00	0.00	9,416.00	LF	1,919.00	\$6.00	\$11,514.00
		0001	0340	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	3,638.00	0.00	3,638.00	EA	959.00	\$5.00	\$4,795.00
		0001	0350	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	88.00	0.00	88.00	EA	0.00	\$5.00	\$0.00
		0001	0360	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	8.00	0.00	8.00	EA	0.00	\$5.00	\$0.00
		0001	0370	6139905	MISC.TYPE 1 OR 5 AGGREGATE FOR BASE (6 IN THICK) (PAVEMENT REPAIR)	2,948.00	0.00	2,948.00	SQYD	0.00	\$22.00	\$0.00
		0001	0380	6139911	MISC.Remove, Furnish & Place Material for Class A Partial Depth Pvm't Repair (using flexible hot polymer-mid. mtrl.)	109,073.10	0.00	109,073.10	LB	0.00	\$3.50	\$0.00
		0001	0390	6161005	CONSTRUCTION SIGNS	4,028.00	0.00	4,028.00	SQFT	1,635.86	\$4.50	\$7,361.37
		0001	0400	6161008	ADVANCED WARNING RAIL SYSTEM	50.00	0.00	50.00	EA	6.00	\$10.00	\$60.00
		0001	0410	6161025	CHANNELIZER (TRIM LINE)	600.00	0.00	600.00	EA	258.00	\$15.00	\$3,870.00
		0001	0420	6161030	TYPE III MOVEABLE BARRICADE	70.00	0.00	70.00	EA	0.00	\$150.00	\$0.00
		0001	0430	6161033	DIRECTIONAL INDICATOR BARRICADE	56.00	0.00	56.00	EA	42.00	\$30.00	\$1,260.00
		0001	0440	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	3.00	\$750.00	\$2,250.00
		0001	0450	6161052	WARNING LIGHT, TYPE B	70.00	0.00	70.00	EA	42.00	\$50.00	\$2,100.00

Revision 4/1/2020 Page 5 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

iole. Fosieu Q	uanuues	and valu	es are c	ased on R	eport Generated date and can differ from the posted am	ount at the tir	ne the E	sumate was	Generat	ea.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D07	J5P3409	0001	0460	6161055	SEQUENTIAL FLASHING WARNING LIGHT	56.00	0.00	56.00	EA	0.00	\$50.00	\$0.00
		0001	0470	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	0.00	5.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	0480	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$900.00	\$0.00
		0001	0490	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$578,418.86	\$144,604.72
		0001	0500	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,471.00	0.00	1,471.00	LF	0.00	\$17.00	\$0.00
		0001	0510	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	668.00	0.00	668.00	LF	0.00	\$16.00	\$0.00
		0001	0520	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING,	49.00	0.00	49.00	EA	0.00	\$250.00	\$0.00
		0001	0530	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$300.00	\$0.00
		0001	0540	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	459,178.00	0.00	459,178.00	LF	0.00	\$0.20	\$0.00
		0001	0550	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	340,399.00	0.00	340,399.00	LF	0.00	\$0.20	\$0.00
		0001	0560	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	27,835.00	0.00	27,835.00	LF	0.00	\$0.60	\$0.00
		0001	0570	6206000C	MARKING PAINT, TYPE L BEADS 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	4,641.00	0.00	4,641.00	LF	0.00	\$0.50	\$0.00
		0001	0580	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	16,475.00	0.00	16,475.00	LF	0.00	\$0.35	\$0.00
		0001	0590	6206108A	MARKING PAINT, TYPE P BEADS 8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	1,153.00	0.00	1,153.00	LF	0.00	\$1.00	\$0.00
					PAINT, TYPE P BEADS							
		0001	0595	6209901 6221001	MISC.Temporary Pavement Marking Paint COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	1.00	0.00	1.00	LS	0.00 82,675.96	\$1.00 \$0.90	\$0.00 \$74,408.36
		0001			SURFACING (3 IN. THICK OR LESS) COLDMILLING CONCRETE PAVEMENT FOR REMOVAL OF			2.304.00				
		0001	0610	6221011	SURFACE	2,304.00	0.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	SQYD	0.00	\$3.00	\$0.00
		0001	0620	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	11,831.00	0.00	11,831.00	SQYD	0.00	\$6.00	\$0.00
		0001	0630	6240104A	SEPARATION GEOTEXTILE	2,610.00	0.00	2,610.00	SQYD	0.00	\$2.50	\$0.00
		0001	0640	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	5,272.70	0.00	5,272.70	STA	0.00	\$9.50	\$0.00
		0001	0650	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	10.50	0.00	10.50	STA	0.00	\$75.00	\$0.00
		0001	0660	6274000 8051000A	CONTRACTOR FURNISHED SURVEYING AND STAKING SEEDING - COOL SEASON GRASSES	0.40	0.00	0.40	LS	0.00	\$7,984.00 \$5,000.00	\$0.00 \$0.00
		0001	0680	8061004	SEDIMENT TRAP ROCK	4.40	0.00	4.40	CUYD	0.00	\$30.00	\$0.00
		0001	0690	8061005	ROCK DITCH CHECK	987.00	0.00	987.00	LF	0.00	\$15.00	\$0.00
		0001	0700	8061016	SEDIMENT REMOVAL	197.00	0.00	197.00	CUYD	0.00	\$10.00	\$0.00
		0001	0710	8061019	SILT FENCE	6,897.00	0.00	6,897.00	LF	0.00	\$1.50	\$0.00
		0001	0720	8061050	TYPE C BERM	1,083.00	0.00	1,083.00	LF	0.00	\$15.00	\$0.00
		0010	0730	6061060	MGS GUARDRAIL	15,075.00	0.00	15,075.00	LF	10,875.00	\$27.50	\$299,062.50
		0010	0740	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	15.00	0.00	15.00	EA	7.00	\$3,200.00	\$22,400.00
		0010	0750	6061074	MGS HEIGHT AND BLOCK TRANSITION	6.00	0.00	6.00	EA	2.00	\$750.00	\$1,500.00
		0010	0760	6061075	MGS LONG SPAN GUARDRAIL SECTION	1.00	0.00	1.00	EA	1.00	\$3,600.00	\$3,600.00
		0010	0770	6061079	MGS EMBEDDED ANCHOR SECTION (WITHOUT RUBRAIL)	125.00	0.00	125.00	LF	125.00	\$36.00	\$4,500.00
		0010	0780	6061080	MGS END ANCHOR	18.00	0.00	18.00	EA	14.00	\$1,300.00	\$18,200.00
		0010	0790	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	32.00	0.00	32.00	EA	23.00	\$2,950.00	\$67,850.00
		0010	0800	6063016	TYPE B CRASHWORTHY END TERMINAL	2.00	0.00	2.00	EA	0.00	\$5,400.00	\$0.00
		0010	0810	6064110	ANCHOR ASSEMBLY, GUARD CABLE 3-STRAND	1.00	0.00	1.00	EA	0.00	\$3,900.00	\$0.00
		0010	0820	6069903	MISC.RELOCATE GUARD CABLE	1,267.00	0.00	1,267.00	LF	0.00	\$16.00	\$0.00
		0020	0830	9015010	TRENCHING TYPE I	1,637.00	0.00	1,637.00	LF	0.00	\$4.50	\$0.00
		0020	0840	9016110	PULL BOX, PREFORMED CLASS 1	2.00	0.00	2.00	EA	0.00	\$1,350.00	\$0.00
		0020	0850	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	1,750.00	0.00	1,750.00	LF	0.00	\$3.25	\$0.00
		0020	0860	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0020	0870	9019902	MISC.Relocate Light Pole	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00

Revision 4/1/2020 Page 6 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D07	J5P3409	0030	0880	9025020	CONDUIT, 1 IN., LOOP DETECTOR WITH TRACER WIRE	50.00	0.00	50.00	LF	0.00	\$8.00	\$0.00
		0030	0890	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	30.00	0.00	30.00	LF	0.00	\$20.00	\$0.00
		0030	0900	9027400	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	143.00	0.00	143.00	LF	0.00	\$25.00	\$0.00
		0030	0910	9028500	CABLE, LOOP DETECTOR, IN DUCT	390.00	0.00	390.00	LF	0.00	\$6.00	\$0.00
		0030	0920	9028510	CABLE, LOOP DETECTOR, LEAD-IN	550.00	0.00	550.00	LF	0.00	\$1.80	\$0.00
		0030	0930	9028810	PULL BOX, PREFORMED CLASS 1	1.00	0.00	1.00	EA	0.00	\$1,350.00	\$0.00
		0030	0940	9028811	PULL BOX, PREFORMED CLASS 2	1.00	0.00	1.00	EA	0.00	\$1,600.00	\$0.00
		0030	0950	9029100	BASE, CONCRETE	0.10	0.00	0.10	CUYD	0.00	\$4,500.00	\$0.00
		0030	0960	9029902	MISC.RELOCATING DETECTOR CONTROLLER	1.00	0.00	1.00	EA	0.00	\$1,000.00	\$0.00
		0040	0970	9031010	CONCRETE FOOTINGS, EMBEDDED	0.50	0.00	0.50	CUYD	0.00	\$3,000.00	\$0.00
		0040	0980	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	2.00	0.00	2.00	EA	0.00	\$300.00	\$0.00
		0040	0990	9031280	2.5 IN. PSST POST - 12 GA.	64.00	0.00	64.00	LF	0.00	\$16.00	\$0.00
		0040	1000	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	12.00	0.00	12.00	LF	0.00	\$40.00	\$0.00
		0040	1010	9039902	MISC.Channelizing Delineators	105.00	0.00	105.00	EA	0.00	\$200.00	\$0.00
		0050	1020	9104969	DETECTOR, PIEZOELECTRIC, INSTALLED	8.00	0.00	8.00	EA	0.00	\$3,800.00	\$0.00
		0070	1030	2161501	REMOVAL OF ASPHALT WEARING SURFACE	5,818.00	0.00	5,818.00	SQFT	0.00	\$2.50	\$0.00
		0070	1040	5050001	OPTIONAL CONCRETE WEARING SURFACE	646.00	0.00	646.00	SQYD	0.00	\$247.41	\$0.00
		0070	1050	7031004	DIAMOND GRINDING	646.00	0.00	646.00	SQYD	0.00	\$15.54	\$0.00
		0070	1060	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00
		0070	1070	7040106	FULL DEPTH REPAIR	50.00	0.00	50.00	SQFT	0.00	\$214.73	\$0.00
		0070	1080	7049907	MISC.Fill Voids Under Bent	6.00	0.00	6.00	CUYD	0.00	\$1,763.75	\$0.00
		0070	1090	7172054	OPEN CELL FOAM JOINT SEAL	56.00	0.00	56.00	LF	0.00	\$265.67	\$0.00
		0071	1100	2161501	REMOVAL OF ASPHALT WEARING SURFACE	7,793.00	0.00	7,793.00	SQFT	0.00	\$1.87	\$0.00
		0071	1110	5050001	OPTIONAL CONCRETE WEARING SURFACE	866.00	0.00	866.00	SQYD	0.00	\$201.46	\$0.00
		0071	1120	7031004	DIAMOND GRINDING	866.00	0.00	866.00	SQYD	0.00	\$13.37	\$0.00
		0071	1130	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00
		0071	1140	7040106	FULL DEPTH REPAIR	50.00	0.00	50.00	SQFT	0.00	\$214.73	\$0.00
		0072	1150	2161501	REMOVAL OF ASPHALT WEARING SURFACE	7,793.00	0.00	7,793.00	SQFT	0.00	\$1.87	\$0.00
		0072	1160	5050001	OPTIONAL CONCRETE WEARING SURFACE	866.00	0.00	866.00	SQYD	0.00	\$198.86	\$0.00
		0072	1170	7031004	DIAMOND GRINDING	866.00	0.00	866.00	SQYD	0.00	\$13.37	\$0.00
		0072	1180	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00
		0072	1190	7040106	FULL DEPTH REPAIR	50.00	0.00	50.00	SQFT	0.00	\$214.73	\$0.00
		0073	1200	2161501	REMOVAL OF ASPHALT WEARING SURFACE	11,196.00	0.00	11,196.00	SQFT	0.00	\$1.30	\$0.00
		0073	1210	5050001	OPTIONAL CONCRETE WEARING SURFACE	1,244.00	0.00	1,244.00	SQYD	0.00	\$164.99	\$0.00
		0073	1220	7031004	DIAMOND GRINDING	1,244.00	0.00	1,244.00	SQYD	0.00	\$9.44	\$0.00
		0073	1230	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00
		0073	1240	7040106	FULL DEPTH REPAIR	50.00	0.00	50.00	SQFT	0.00	\$214.73	\$0.00
		0074	1250	2161501	REMOVAL OF ASPHALT WEARING SURFACE	9,110.00	0.00	9,110.00	SQFT	0.00	\$1.60	\$0.00
		0074	1260	5050001	OPTIONAL CONCRETE WEARING SURFACE	1,012.00	0.00	1,012.00	SQYD	0.00	\$178.57	\$0.00
		0074	1270	7031004	DIAMOND GRINDING	1,012.00	0.00	1,012.00	SQYD	0.00	\$10.45	\$0.00
		0074	1280	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00
		0074	1290	7040106	FULL DEPTH REPAIR	50.00	0.00	50.00	SQFT	0.00	\$214.73	\$0.00
		0075	1300	2161501	REMOVAL OF ASPHALT WEARING SURFACE	6,138.00	0.00	6,138.00	SQFT	0.00	\$2.37	\$0.00
		0075	1310	5050001	OPTIONAL CONCRETE WEARING SURFACE	682.00	0.00	682.00	SQYD	0.00	\$179.71	\$0.00
		0075	1320	7031004	DIAMOND GRINDING	682.00	0.00	682.00	SQYD	0.00	\$11.99	\$0.00
		0075	1330	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	0.00	\$204.88	\$0.00

Revision 4/1/2020 Page 7 of 12



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-D07	J5P3409	0075	1340	7040106	FULL DEPTH REPAIR	50.00	SQFT	0.00	\$214.73	\$0.00		
	Project J	Project J5P3409 - Total Value Posted to Date as of Report Generated Date									\$1,425,530.02	
210917-D07 Ove	-D07 Overall - Total Value Posted to Date as of Report Generated Date										\$1,425,530.02	

Revision 4/1/2020 Page 8 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5P3409

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0100	2153000	SHAPING SLOPES, CLASS III	6/2/22	6/3/22	3.75	100F	NB 63 - LT	217.177		217.250		Conley Rd.
			6/7/22	6/8/22	1.25	100F	NB 63 - RT	217.001		217.028		
			6/8/22	6/9/22	5.88	100F	NB 63 - RT	219.440		219.440		
			6/14/22	6/16/22	11.12	100F	NB off ramp at Rt. B - Rt.	0.036		.25		
			6/15/22	6/17/22	2.88	100F	SB RTE. 63 RT	118.852		118.909		
0200	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	6/13/22	6/17/22	704.14	TONS	DL	133.003		133.946		13.1' wide x 4979.04' length x 0.1458' depth = 352.3 CUYD
				6/16/22	2,499.27		SB Driving Lane	133.946		137.079		
0250	4074007	TACK COAT I OW OR NON TRACKING	6/15/22	6/17/22	2,322.46	TONS		137.079		140.046		Charled with 4000 called word OFF called a supplier
0250	4071007	TACK COAT - LOW OR NON-TRACKING	6/13/22	6/17/22	913.00	GAL	DL	133.003		133.946		Started with 1900 gallons, used 955 gallons, quantit used is 945 gallons. Per asphalt roadway report 91 gallons is to be paid
			6/14/22	6/16/22	2,455.00	GAL	SB Driving Lane	133.946		137.079		
				6/17/22	2,320.00	GAL	SB 63 Driving Lane	137.079		140.046		
0310	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	6/2/22	6/3/22	51.90	SQYD		203.481		204.720		
				6/7/22	60.20	SQYD		203.481		204.720		4 patches at MM 203.481, 203.733, 204.250, 240.7
			6/6/22	6/7/22	97.20	SQYD	SB Driving Lane just south of Rt. H and then another lane drop just south of Rt. M & Y	130.246		136.317		
				6/8/22	64.70		SB passing lane just south of the airport exit	130.248		136.317		
			6/8/22	6/9/22	72.60	SQYD	Southbound 63, both lanes dropped alternately, south of Ashland.	137.155		141.243		
			6/9/22	6/14/22	58.40	SQYD	Southbound 63 by the sod farm.	145.096		147.677		
330	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	6/2/22	6/3/22	203.00	LF	NB 63 Passing Lane	203.481		204.720		
			6/3/22	6/7/22	201.00	LF	NB - Driving Lane	203.481		204.720		4 patches at MM 203.481, 203.733, 204.250, 240.7
			6/6/22	6/7/22	400.00	LF	SB Driving Lane just south of Rt. H and then another lane drop just south of Rt. M & Y	130.246		136.317		
			6/7/22	6/8/22	236.00	LF	SB passing lane just south of the airport exit	130.248		136.317		
			6/8/22	6/9/22	296.00	LF	Southbound 63, both lanes dropped alternately, south of Ashland.	137.155		141.243		
			6/9/22	6/14/22	217.00	LF	Southbound 63 by the sod farm.	145.096		147.677		
0340	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST		6/3/22	80.00		NB 63 Passing Lane	203.481		204.720		
			6/3/22	6/7/22	100.00		NB - Driving Lane	203.481		204.720		4 patches at MM 203.481, 203.733, 204.250, 240.7
			6/6/22	6/7/22	170.00	EA	SB Driving Lane just south of Rt. H and then another lane drop just south of Rt. M & Y	130.246		136.317		
							SB passing lane just south of the airport exit					
			6/8/22	6/9/22	159.00	EA	Southbound 63, both lanes dropped alternately, south of Ashland.	137.155		141.243		
			6/9/22	6/14/22	120.00	EA	Southbound 63 by the sod farm	145.096		147.677		
0390	6161005	CONSTRUCTION SIGNS	6/3/22	6/7/22	50.93	SQFT	For the exit ramp at Rt. Y and M in Ashland	203.481		203.800		This was for a Gore Exit, Merge Arrow Symbol, Yiel
			6/6/22	6/7/22	50.93	SQFT	SB Driving Lane just south of Rt. H and then another lane drop just south of Rt. M & Y	130.246		136.317		Ahead (Symbol), and Yield Sign.
0410	6161025	CHANNELIZER (TRIM LINE)	6/6/22	6/7/22	65.00	EA	Highway 63 southbound, driving lane. From around Route	130.246		136.317		
							H to just a bit south of Ashland exit					
0600	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	41.41	6/17/22	7,247.30			133.003		133.946		13.1' wide x 4979.04' length = 7247.3 SQYD
				6/15/22	25,439.15		From LM 133.946 to 137.079. The crew held a consistent grade between 1.8-2.2%, a consistent depth of 1 34 inch +/- 1/16 of an inch. Width of DL milled section averaged 1.3.405 for log miles 133.946 to 157.079. From log mile 133.946 to 157.079. From log mile 133.946 to 137.079. From log mile 133.946 to 137.079 the width averaged 132°. From log mile 133.946 to 137.079 the width ranged from 13°10°-14°2°. I used a weighted average based on the length of sections to find an average width of the entire section and multiplied that by the length of the section. I then divided that summation by 9 to convert it to square yards.					
				6/17/22	23,498.64		SB 63 Driving Lane	137.079		140.046		
0730	6061060	MGS GUARDRAIL	6/2/22	6/3/22	300.00	LF		217.177		217.250		Conley Rd.
			6/8/22		512.50		NB 63 - RT	219.440		219.440		
				6/16/22	1,112.50		NB off ramp at Rt. B - Rt.	0.036		.25		
			6/15/22		212.50		SB RTE. 63 RT	118.852		118.909		
U740	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	6/2/22		1.00		NB 63 - LT	217.177		217.250		Conley Rd.
			6/15/22		1.00		SB RTE. 63 RT	118.852		118.909		
		MGS EMBEDDED ANCHOR SECTION (WO RUBRAIL)	6/7/22		125.00		NB 63 - RT	217.001		217.028		
0780	6061080	MGS END ANCHOR	6/7/22		1.00		NB 63 - RT	217.001		217.028		
			6/14/22		1.00		NB off ramp at Rt. B - Rt.	0.036		.25		
0790	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6/2/22		1.00		NB 63 - LT	217.177		217.250		Conley Rd.
			6/8/22		1.00		NB 63 - RT	219.440		219.440		
			6/14/22	6/16/22	1.00	EA	NB 63 - LT	217.177				This was an overrun because it got hit and it was the direction of the RE to have D & S Fencing take care

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 9 of 12



Line Item Adjustments by Estimate

Contract ID:190215-D05

roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
P3409	0200	ASPHALTIC CONCRETE MIXTURE PG	Other Item Adjustment	ACAD	6	Jun 17, 2022	hakej1	\$42,521.57	AC Adjustment - Asphalt	
		70-22 (SP125C		ACAD - Tot	al			\$42,521.57		
		MIX)	Other Item A	djustment - T	otal			\$42,521.57		
			Price FUEL		6	Jun 17, 2022	SYSTEM	\$48,616.60	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$48,616.60		
			Price FUEL -	Total				\$48,616.60		
	0200 -	Total						\$91,138.17		
	0250	TACK COAT - LOW OR NON- TRACKING	Material		6	Jun 17, 2022	SYSTEM	\$18,486.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user hakej1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					6	Jun 17, 2022	SYSTEM	(\$18,486.00)		
				- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0250 -	Total						\$0.00		
	0270	MISC.	Construction Stockpile		5	Jun 2, 2022	SYSTEM	\$272,580.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$272,580.00		
			Construction	Stockpile S	ΓMI - Total			\$272,580.00		
	0270 -	Total						\$272,580.00		
	0310	FURN & PLACE CONC MATL FOR FULL	Material		5	Jun 2, 2022	SYSTEM	\$21,662.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user hakej1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	
		DEPTH			5	Jun 2, 2022	SYSTEM	(\$21,662.10)		
					6	Jun 17, 2022	SYSTEM	\$107,927.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user hakej1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	
					6	Jun 17, 2022	SYSTEM	(\$107,927.10)		
				- Total						
			Material - Tot	ial - Total						
	0310 -	Total						\$0.00		
	0340	DOWEL BAR (DRILLING, FURNISHING AND INST	Material	Material		5	Jun 2, 2022	SYSTEM	\$1,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user hakej1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		AND INST			5	Jun 2, 2022	SYSTEM	(\$1,000.00)		
					6	Jun 17, 2022	SYSTEM	\$4,795.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user hakej1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
					6	Jun 17, 2022	SYSTEM	(\$4,795.00)		
				- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0340 -	Total						\$0.00		
	0730	MGS GUARDRAIL	Construction Stockpile		2	Apr 18, 2022	SYSTEM	(\$23,494.95)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					3	May 2, 2022	SYSTEM	(\$53,811.01)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					4	May 16, 2022	SYSTEM	(\$45,474.10)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Jun 2, 2022	SYSTEM	(\$53,811.01)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					6	Jun 17, 2022	SYSTEM	(\$43,200.39)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$219,791.46)		
			Construction	Stockpile - 1	Total			(\$219,791.46)		



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J5P3409	0730	MGS GUARDRAIL	Construction Stockpile STMI		1	Apr 4, 2022	SYSTEM	\$252,119.75	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIVII	- Total						
			Construction	Stockpile S	ΓMI - Total			\$252,119.75		
	0730 -	Total						\$32,328.29		
	0740	MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile		2	Apr 18, 2022	SYSTEM	(\$6,300.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		CURB)			4	May 16, 2022	SYSTEM	(\$2,100.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Jun 2, 2022	SYSTEM	(\$2,100.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					6	Jun 17, 2022	SYSTEM	(\$4,200.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$14,700.00)		
			Construction	Stockpile - 1	Total			(\$14,700.00)		
			Construction Stockpile STMI	ockpile	1	Apr 4, 2022	SYSTEM	\$31,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STIVII	- Total				\$31,500.00		
			Construction	Stockpile S	ΓMI - Total			\$31,500.00		
	0740 -	· Total						\$16,800.00		
	AND BLO	MGS HEIGHT AND BLOCK TRANSITION	Construction Stockpile		4	May 16, 2022	SYSTEM	(\$1,110.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		TONOTHON		- Total				(\$1,110.00)		
			Construction	Stockpile - 1	Total			(\$1,110.00)		
			Construction Stockpile STMI		1	Apr 4, 2022	SYSTEM	\$3,330.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIVII	- Total				\$3,330.00		
			Construction	Stockpile S	MI - Total			\$3,330.00		
	0750 -	· Total						\$2,220.00		
	0760	MGS LONG SPAN GUARDRAIL	Construction Stockpile		4	May 16, 2022	SYSTEM	(\$1,980.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		SECTION		- Total				(\$1,980.00)		
				Stockpile - 1				(\$1,980.00)		
			Construction Stockpile STMI		1	Apr 4, 2022	SYSTEM	\$1,980.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$1,980.00		
				i Stockpile S⊺			0) (0 === 1	\$1,980.00		
			Material		4	May 16, 2022	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user hakej1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					4	May 16, 2022	SYSTEM	(\$3,600.00)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0760 -	· Total						\$0.00		
	0780	MGS END ANCHOR	Construction Stockpile		2	Apr 18, 2022	SYSTEM	(\$850.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					3	May 2, 2022	SYSTEM	(\$4,250.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					4	May 16, 2022	SYSTEM	(\$2,550.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Jun 2, 2022	SYSTEM	(\$2,550.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
							6			
					6	Jun 17, 2022	SYSTEM	(\$1,700.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total	6		SYSTEM	(\$1,700.00) (\$11,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Construction	- Total 1 Stockpile - 1			SYSTEM	, , ,	Payment Estimate Item Adjustment generated Stockpile Transaction	

Jun 23, 2022



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
IED2400	0700	MCC END	Stockpile	Туре		2022	2,		
J5P3409	0780	MGS END ANCHOR							
			Construction		MI - Total			\$15,300.00 \$15,300.00	
	0780 -	Total	Construction	1 Stockpile 3 i	IWII - TOLAI			\$3,400.00	
	0790	TYPE A	Construction		2	Apr 18,	SYSTEM	(\$7,800.00)	Payment Estimate Item Adjustment generated Stockhille Transaction
	0790	CRASHWORTHY	Stockpile		2	2022	STSTEIN	(\$7,000.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)			3	May 2, 2022	SYSTEM	(\$9,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					4	May 16, 2022	SYSTEM	(\$11,700.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Jun 2, 2022	SYSTEM	(\$7,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					6	Jun 17, 2022	SYSTEM	(\$7,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$44,850.00)	
			Construction	Stockpile - T	otal			(\$44,850.00)	
			Construction Stockpile STMI		1	Apr 4, 2022	SYSTEM	\$62,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$62,400.00	
			Construction	Stockpile ST	MI - Total			\$62,400.00	
	0790 - Total							\$17,550.00	
	0800	TYPE B CRASHWORTHY END TERMINAL	Construction Stockpile STMI		1	Apr 4, 2022	SYSTEM	\$6,920.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL	OTIVII	- Total				\$6,920.00	
			Construction	Stockpile ST	MI - Total			\$6,920.00	
	0800 -	Total						\$6,920.00	
	0980	BREAKAWAY ASSEMBLY (PERFORATED	Construction Stockpile STMI		5 Jun 2, 2022		SYSTEM	\$526.50	Payment Estimate Item Adjustment generated Stockpile Transaction
		SQUARE STEEL		- Total				\$526.50	
		TUBE)	Construction	Stockpile ST	MI - Total			\$526.50	
	0980 -	Total						\$526.50	
	0990	2.5 IN. PSST POST - 12 GA.	Construction Stockpile STMI		5	Jun 2, 2022	SYSTEM	\$761.60	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$761.60	
			Construction	Stockpile ST	MI - Total			\$761.60	
	0990 -	Total						\$761.60	
	1000	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile STMI		5	Jun 2, 2022	SYSTEM	\$323.76	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$323.76	
			Construction	Stockpile ST	MI - Total			\$323.76	
	1000 -							\$323.76	
	1010	MISC.	Construction Stockpile STMI		5	Jun 2, 2022	SYSTEM	\$13,137.60	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total							\$13,137.60	
			Construction	Stockpile ST	MI - Total			\$13,137.60	
	1010 -	Total						\$13,137.60	
J5P3409 -	Total							\$457,685.92	
Overall -	Total							\$457,685.92	